P-TI (1+1+1) G /20 (N)
2020
GEOGRAPHY (General)
Paper Code : IV - A & B
(Human Geography)
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |III|A |& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.

Page : 1 of 12



NBoie DT &TaT (MCQ) T Treedl fewtiaet

o TEReiTa WS B KGR (Subject) AN R (1@, @EGCHH T, GEH
@38 @ 751 fovere 2||

TAzas — (T Paper II-A (MCQ) @3¢ III-B (Descriptive) |

Subject Code : |III|A|&|B

Subject Name :

o TR RSl A4 (MCQ) Tea fire za) Al o v < e
&g, FATF (A), (B), (C) 9% (D) F@ (MeT TR | AT ©F TaEd
F90F (A)/(B)/(C)/ (D) Fli® Rl oy w51 Tz Beasitd e
el
Trizae — W 1 997 89 0T Bed A W OR oIS 201

L—A

-%@memﬂﬁvw cﬁ%

Page : 2 of 12



Paper Code : IV - A

Full Marks : 15 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which parts of the globe have the highest human population densities?
(A) The Northern Hemisphere
(B) The equator
(C) The Southern Hemisphere
(D) None of these

S | iU (I SR SRAA TG D 2
(A) T&x (allets
(B) fo=rim w1%ss
(C) wf#e canreticd
(D) @A T

2. Which factors are regarded as the causes of migration —
(A) Push factors
(B) Pull factors
(C) Both ‘A’ and ‘B’
(D) None of the above
3| e Fige 5 e
(A) =i =wiFe
(B) T i
(C) TwHz (A) @ (B)
(D) @A T
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3. Where is the population growth rate fastest in the world?
(A) Sub-Saharan Africa
(B) Latin America
(C) West Asia
(D) South Asia

©| SRIF P TR0 TPRAE I A2
(A) - e
(B) wfErel STsifel
(C) ~if*ea1 @
(D) wifswet @

4. Who wrote the book The Dictionary of Human Geography?
(A) Leong and Morgan
(B) Gregory, Johnston, Pratt, Watts and Whatmore
(C) B. S. Neogi
(D) J. Sen
8 | The Dictionary of Human Geography 32 (& feTrafetsi?
(A) foe @ e
(B) (29, TG+, 255, CATA @ @GR
(C) 1. @, faadn
(D) c&. 9
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5. What are the basic differences between rural and urban settlement?
(A) Number of population
(B) Occupation
(C) Population density
(D) All of these

@ 2N @3] [ TEEIted & SAlmel e
(A) Gt
(B) Gl
(C) Gy
(D) T RS0
6. The concept of fertility is simply defined as —
(A) The maximum possible number of children that can be born each year
(B) The incidence of child bearing in a country’s population
(C) Used to assess the health of a population
(D) The number of live births in a given year

v | TR REba @b e et 2o —
(A) A0S A AEH &N (e Fwm Sl
(B) (I (MO SR s eiqigsiae!
(C) PR Jrg sAfilsl il
(D) ¢ I=(F Giffe Mg kA
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7. Which of the following languages is included in the Indian Constitution?
(A) Malayalam
(B) Konkani
(C) Dogri
(D) All of these
| ORTeR W fsfRe @ erif/erisf 3@ wg —
(A) SNeTRMETY
(B) =
(C) coat
(D) Tolta aefeg
8. In which state the largest number of tribals is living?
(A) Gujarat
(B) Odisha
(C) Bihar
(D) Madhya Pradesh
v | [0RA (IR Aen TS Sorenfeq (1T I 02
(A) &6
(B) ef=
(C) ==
(D) e
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9. What is the number of female population per thousand male in India, after
Census 20117

(A) 950
(B) 980
(C) 970
(D) 940

| ORCST X053 AR SIGPNIE SRl 4f gre s [ TRy —
(A) seo
(B) svo
(C) »a0
(D) s80

10. Which one of the important indicator of human development?

(A) Optimum population
(B) Development in health facility
(C) Per capita income

(D) Immigration

so | TEd (I TR T TR Ipe 2
(A) R0 SRl
(B) ofewn azid Tafe
(C) oIC wefsig
(D) ~ifaarem
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11. At present, the world’s population growth rate is —
(A) 1.3 percent
(B) 2.0 percent
(C) 1.4 percent
(D) 2.4 percent

5 | TEAC T PR I =7 —
(A) >.9 *SIeH
(B) .0 *[oik¥
(C) .8 *IoIH
(D) 2.8 *foikH
12. “Toto’ is a primitive tribal community found in the district of —
(A) Cooch Behar
(B) Alipurduar
(C) Jalpaiguri
(D) Darjeeling
53| “CBICHT” AIRF 2ibl Srienforna (@ (et sfiex A —
(A) @vRER
(B) wfevsfgam
(C) T=iizefy
(D) wifeifere
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13. Bushmen are the native people from which of the following continents?
(A) North America
(B) South America
(C) South Africa
(D) Asia
S | AT A DI [T (5B (IR e 2
(A) TeF SE!
(B) wf=rel eNCsIfE=l
(C) wifsel el
(D) @i
14. The name of less populated state of India —
(A) Sikkim
(B) Arunachal Pradesh
(C) Assam
(D) Goa
58 | SHCed IS Tmi<eet Aenl ze —
(A) Fifer
(B) r<eelloet 2o
(C) =P
(D) camstt
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15. Which is the main activity of the Eskimos during the short summer season?
(A) Animal grazing
(B) Lumbering
(C) Fishing
(D) Hunting
se | T8 A AFEIER T (@i I @ AT ?
(A) =l
(B) Fo7ReE
(C) w7 M
(D) ferera
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P-TI (1+1+1) G /20 (N)
2020

GEOGRAPHY (General)
Paper Code : IV - B
(Human Geography)
[New Syllabus]

Full Marks : 35 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Section - I

Answer any two questions. 10x2=20

1. Discuss shortly about the scope of human geography in present context. Shortly
explain the problems of high population growth. 5+5=10

2. Distinguish between rural settlement and urban settlement. 10

3. Explain with suitable examples and illustration about the factors responsible for
uneven distribution of human population, over the globe. 10

4. Explain the content of social geography. Briefly discuss the features of lifestyle

of Eskimos. 5+5=10
Section - I1

Answer any three questions. 5x3=15

5. Define the concept of underdevelopment. 5

6. Briefly discuss the human adaptation in mountainous region with special reference

to Guyjjar. 5
7. Enumerate the concept of indicator of development. 5
8. Briefly describe the measures of mortality. 5
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9. Discuss the role of religion and caste in analysing social geography of India. 5

10. Make an interpretation of basic characteristic features of urban settlement. 5

AW
et - =

@ PG vfb 2ess e wie | Y0x3=30

S| FEAM AT WRCL, A GroNteR eiferel @R eianeTs el
FLCHC] SN e | SIRoN@R Gyl Jiast TPiiesfer ACHCH ST 591 |

¢t+e=>50

3 &N @G3R TR TeReIed #A1e f@mele 41 So
© | ST TP TR I SoAmmeler SrzRel @ e e
]| S0

8 | ANTEF GraNtes Rz sTI(F (=1} | IR GIReiars Qe 7is

ACFCA SO | ¢te=s0
Tt - ¢

@ @Ie foalo otwa e wie | Ex9=5¢

@ | SIS (underdevelopment) Qe /e 391 4

Y| AET A AR Sferetas REah, semma Sferetas R

A 1 | @

q | TCE 2IfeiF (indicator of development)-43 4IFeid Jf&swre [Roas 4|

¢4

b | FREFAIFIE TYRF (mortality) KRG #itsnoa w11 ¢
d | SIS AWES Grailtel & @ Tifer ST bl 4 | @
so | W9 TPt Sifdfes IREefe Sitanal 391 ¢
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